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6th July

	Class 8 | Social Studies


The picture shown below represents a disaster management initiative. Which of the following is the disaster depicted in the picture? 
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A. Earthquake
B. Flood
C. Fire
D. Cyclone

	


8th July

	Class 8 | English


Which word BEST fills in the blank in the sentence below?
Neither very funny nor very serious films ________ me now.


A. interest
B. interests
C. interested
D. has interested

	

Saturday's Question | Class 8 | Social Studies


The picture shown below represents a disaster management initiative. Which of the following is the disaster depicted in the picture? 
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A. Earthquake

B. Flood

C. Fire

D. Cyclone

Correct Answer : D



9th July

	Class 8 | Maths


Four friends Apara, Binnie, Chitra and Dilpreet live in four consecutive houses, F-10 to F-13, on a street.
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Apara has Dilpreet as her next-door neighbour on one side, and Chitra on the other.
Binnie's house number is the smallest of all four.
Who stays in house number F-12?

A. Apara
B. Binnie
C. Chitra
D. Dilpreet

	

Yesterday's Question | Class 8 | English


Which word BEST fills in the blank in the sentence below?
Neither very funny nor very serious films ________ me now.


A. interest

B. interests

C. interested

D. has interested

Correct Answer : A



10th July

	Class 8 | Science


Most flowers bloom in the day and are brightly coloured. Compared to day-blooming flowers, it is likely that night-blooming flowers ______________

A. are brighter but not so strongly scented.
B. are not as bright but more strongly scented.
C. are not as bright and not so strongly scented.
D. (follow no comparable pattern of brightness or scentedness )

	

Yesterday's Question | Class 8 | Maths


Four friends Apara, Binnie, Chitra and Dilpreet live in four consecutive houses, F-10 to F-13, on a street.
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Apara has Dilpreet as her next-door neighbour on one side, and Chitra on the other.
Binnie's house number is the smallest of all four.
Who stays in house number F-12?

A. Apara

B. Binnie

C. Chitra

D. Dilpreet

Correct Answer : A



11th July

	Class 8 | Maths


In the figure below, PQ, QR and RP are chords of the circle with centre O. If POQ : QOR : ROP = 3 : 2 : 4, what is the measure of OQR?
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A. 400
B. 500
C. 600
D. 800

	

Yesterday's Question | Class 8 | Science


Most flowers bloom in the day and are brightly coloured. Compared to day-blooming flowers, it is likely that night-blooming flowers ______________

A. are brighter but not so strongly scented.

B. are not as bright but more strongly scented.

C. are not as bright and not so strongly scented.

D. (follow no comparable pattern of brightness or scentedness )

Correct Answer : B



12th July

	Class 8 | Science


Figure P below shows a beaker of water being heated directly. However, some liquids like alcohol are heated using a water bath (figure Q). Which of these is NOT likely to be a reason for water baths to be used?
[image: image7.jpg]Figure P Figure Q





A. It is safer to use them with inflammable liquids.
B. It allows more uniform heating of the liquid.
C. It is a faster way of heating a liquid.
D. It is convenient for liquids with low boiling points.

	

Yesterday's Question | Class 8 | Maths


In the figure below, PQ, QR and RP are chords of the circle with centre O. If POQ : QOR : ROP = 3 : 2 : 4, what is the measure of OQR?
[image: image8.jpg]



A. 400
B. 500
C. 600
D. 800
Correct Answer : B



13th July

	Class 8 | Social Studies


The picture shown here is from the Amar Chitra Katha series. It shows a popular a king who ruled over a large part of India. Study the picture carefully and identify the king. 
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A. Chandragupta Maurya
B. Ashoka 
C. Harshavardhana 
D. Raja Raja Chola 

	

Yesterday's Question | Class 8 | Science


Figure P below shows a beaker of water being heated directly. However, some liquids like alcohol are heated using a water bath (figure Q). Which of these is NOT likely to be a reason for water baths to be used?
[image: image10.jpg]Figure P Figure Q




A. It is safer to use them with inflammable liquids.

B. It allows more uniform heating of the liquid.

C. It is a faster way of heating a liquid.

D. It is convenient for liquids with low boiling points.

Correct Answer : C



15th July

	Class 8 | English


Which of the following is written CORRECTLY?


A. Safely and securely to surf the internet, there are many ways.
B. Surf the internet safely and securely, there are many ways.
C. There are many ways to surf the internet safely and securely.
D. There are ways, many, to surf the internet safely and securely.

	

Saturday's Question | Class 8 | Social Studies


The picture shown here is from the Amar Chitra Katha series. It shows a popular a king who ruled over a large part of India. Study the picture carefully and identify the king. 
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A. Chandragupta Maurya

B. Ashoka 

C. Harshavardhana 

D. Raja Raja Chola 

Correct Answer : B



16th July

	Class 8 | Maths


7.32 x 10-2 is nearly equal to

A. -140
B. 700
C. 0.007
D. 0.07

	

Yesterday's Question | Class 8 | English


Which of the following is written CORRECTLY?


A. Safely and securely to surf the internet, there are many ways.

B. Surf the internet safely and securely, there are many ways.

C. There are many ways to surf the internet safely and securely.

D. There are ways, many, to surf the internet safely and securely.

Correct Answer : C



17th July

	Class 8 | Science


[image: image12.jpg]



A bar magnet is shown along with 4 compasses placed near it. If there are no magnetic substances near it, a compass needle will point north. Which of the arrows in the options below is pointing towards North?

A. [image: image13.jpg]



B. [image: image14.jpg]



C. [image: image15.jpg]



D. [image: image16.jpg]





	

Yesterday's Question | Class 8 | Maths


7.32 x 10-2 is nearly equal to

A. -140

B. 700

C. 0.007

D. 0.07

Correct Answer : D



18th July

	Class 8 | Maths


The shape given below is made up of identical small squares.
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If the area of the whole shape is 24 cm2, what is its perimeter?

A. 24cm
B. 28cm
C. 48cm
D. 56cm

	

Yesterday's Question | Class 8 | Science
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A bar magnet is shown along with 4 compasses placed near it. If there are no magnetic substances near it, a compass needle will point north. Which of the arrows in the options below is pointing towards North?

A. [image: image19.jpg]



B. [image: image20.jpg]



C. [image: image21.jpg]



D. [image: image22.jpg]



Correct Answer : A



19th July

	Class 8 | Science


When Saurabh saw a thief entering his house stealthily in the middle of night, he was alarmed and his heart started beating fast. These symptoms could be attributed to the action of which hormone?

A. Adrenaline
B. Thyroxin
C. Testosterone
D. Insulin

	

Yesterday's Question | Class 8 | Maths


The shape given below is made up of identical small squares.
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If the area of the whole shape is 24 cm2, what is its perimeter?

A. 24cm

B. 28cm

C. 48cm

D. 56cm

Correct Answer : B



20th July

	Class 8 | Social Studies


Towards the first half of the 20th century, the British government settled the age old land-owning issues in India through the 'Land Reforms Act'. According to this act, which kind of land was transferred from the wealthy feudal lords to the common man?

A. Industrial land
B. Agricultural land
C. Pasture land
D. all kinds of land

	

Yesterday's Question | Class 8 | Science


When Saurabh saw a thief entering his house stealthily in the middle of night, he was alarmed and his heart started beating fast. These symptoms could be attributed to the action of which hormone?

A. Adrenaline

B. Thyroxin

C. Testosterone

D. Insulin

Correct Answer : A



22nd July

	Class 8 | English


Choose the option that BEST replaces the underlined expression. 

I was at my wit's end as I could not find my hotel. I had never been to Patna before and I knew that I had to find help soon.

A. I was very exhausted
B. I was very frightened
C. I was very desperate
D. I was very saddened

	

Saturday's Question | Class 8 | Social Studies


Towards the first half of the 20th century, the British government settled the age old land-owning issues in India through the 'Land Reforms Act'. According to this act, which kind of land was transferred from the wealthy feudal lords to the common man?

A. Industrial land

B. Agricultural land

C. Pasture land

D. all kinds of land

Correct Answer : B



23rd July

	Class 8 | Maths


What is the minimum number of degrees by which the shape below has to be rotated (about its centre) so that it
looks exactly the same as it does now?
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A. 90
B. 1000
C. 1800
D. 3600

	

Yesterday's Question | Class 8 | English


Choose the option that BEST replaces the underlined expression. 

I was at my wit's end as I could not find my hotel. I had never been to Patna before and I knew that I had to find help soon.
A. I was very exhausted

B. I was very frightened

C. I was very desperate

D. I was very saddened

Correct Answer : C



24th July

	Class 8 | Science


An electric guitar is generating a sound of constant frequency. An increase in which sound wave characteristic would result in an increase in loudness?

A. speed
B. wavelength
C. period
D. Amplitude

	

Yesterday's Question | Class 8 | Maths


What is the minimum number of degrees by which the shape below has to be rotated (about its centre) so that it
looks exactly the same as it does now?
[image: image25.jpg]



A. 90
B. 1000
C. 1800
D. 3600
Correct Answer : D



25th July

	Class 8 | Maths


What is the area of the shaded part of the SQUARE shown below?
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A. 35 cm2
B. 70 cm2
C. 85 cm2
D. 93 cm2

	

Yesterday's Question | Class 8 | Science


An electric guitar is generating a sound of constant frequency. An increase in which sound wave characteristic would result in an increase in loudness?

A. speed

B. wavelength

C. period

D. Amplitude

Correct Answer : D



26th July

	Class 8 | Science


Metal + Water --------->Metal hydroxide + ______
What is the other product in this reaction?

A. hydrogen
B. oxygen
C. acid
D. Salt

	

Yesterday's Question | Class 8 | Maths


What is the area of the shaded part of the SQUARE shown below?
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A. 35 cm2
B. 70 cm2
C. 85 cm2
D. 93 cm2
Correct Answer : C



27th July

	Class 8 | Social Studies


Which of these is traditionally performed in the courtyard of local Hindu temples? 

A. Bihu of Assam
B. Kathakali of Kerala 
C. Bhangra of Punjab 
D. Karma dance of Chhattisgarh

	

Yesterday's Question | Class 8 | Science


Metal + Water --------->Metal hydroxide + ______
What is the other product in this reaction?

A. hydrogen

B. oxygen

C. acid

D. Salt

Correct Answer : A



29th July

	Class 8 | English


The penniless artist was speechless. He could not have imagined that luck would favour him one day. 

If we were to rewrite the underlined sentence using the word 'hardly', which would be the BEST way to write it?

A. He could hardly not have imagined that luck would favour him one day.
B. Hardly could he have not imagined that luck would favour him one day.
C. He could not have imagined that luck would hardly favour him one day.
D. He could hardly have imagined that luck would favour him one day.

	

Saturday's Question | Class 8 | Social Studies


Which of these is traditionally performed in the courtyard of local Hindu temples? 

A. Bihu of Assam

B. Kathakali of Kerala 

C. Bhangra of Punjab 

D. Karma dance of Chhattisgarh

Correct Answer : B



30th July

	Class 8 | Maths


When a cake was divided equally among 12 children, each child got a piece weighing 50 grams. If the cake had been divided equally among 15 children, each piece would have weighed

A. 3 grams less
B. 10 grams less
C. 3 grams more
D. 12.5 grams more

	

Yesterday's Question | Class 8 | English


The penniless artist was speechless. He could not have imagined that luck would favour him one day. 

If we were to rewrite the underlined sentence using the word 'hardly', which would be the BEST way to write it?
A. He could hardly not have imagined that luck would favour him one day.

B. Hardly could he have not imagined that luck would favour him one day.

C. He could not have imagined that luck would hardly favour him one day.

D. He could hardly have imagined that luck would favour him one day.

Correct Answer : D



31st July

	Class 8 | Science


In the diagram shown alongside of the human urinary system, the function of separating urea from blood to form urine is carried out by the organ marked:
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A. A
B. B
C. C
D. D

	

Yesterday's Question | Class 8 | Maths


When a cake was divided equally among 12 children, each child got a piece weighing 50 grams. If the cake had been divided equally among 15 children, each piece would have weighed

A. 3 grams less

B. 10 grams less

C. 3 grams more

D. 12.5 grams more

Correct Answer : B



